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SECTION:1
QUE.1
{(a) Explain: 1. Statistical Inference, Point estimation and Interval estimation . (8)

2. Null hypothesis, Alternative hypothesis and Composite hypothesis.
(b) The mean of a random sample of 1000 units is 19.6 and the mean of another random (9)
sample of 800 units is 20. Can it be conclude that both the samples come from the same
population with standard deviation 2.6? ( At 5% leve! of significance table value is 1.96).

O.R
QUE.1
(a) Explain in short properties of a good estimator. (8)
(b) In a sample of 1000 men from one city 400 were found to be a smokers. From (9)

another city 400 men are smokers out of 800 men. Do the data indicate significantly
difference of smoking habit among men? { At 5% level of significance table value is 1.96).
QUE.2

(a) Differentiate between Small Sample tests and Large Sample Tests (6)
(b} The sales data of an item before and after advertisement are as under. Can the advertise
effect on sales? ( At 9 d.f and 5% level of significance table value of t is 2.262) (7)

Before 80 {30 | 20 40 60 |80 (50 |80 70 90
advertisement
After 70 |50 | 70 50 |30 (90 (50 |100 |60 100
advertisement

{c ) Explain any one use of t-distribution. (5)

0.R

QUE.2

(a) What is mean by Analysis of Variance? Write assumptions of it. (6}

{b) The following yields were obtained by using three fertilizers in different plots. (7)

Test the hypothesis that there is no significance difference between the Fertilizers.
( At 2,9 d.f and 5% level of significance table value of Fis 4.26 )
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Fertilizers Yield
A 1 4 3 3
B 6 5 4 2
C 7 3 5 6

(c ) Ten individuals are chosen at random from a population are given below:
135,130,136,138,143,146,150,148,153,151. Test the hypothesis that mean of the
population is 140. ( At 9 d.f and 5% level of significance table value of tis 2.262 }

(5)

SECTION:2
QUE.3
{a) State various uses of Chi-square tests and explain any one of it. (8)
(b) Use Mann-Whitney U test for testing “ two random sample are taken from (9)
the same poputation”.{ At 5% leval of significance table value is 1.96)
Sample-1 |42 |57 51|61 |40 |49 |58 63 |64 |42 {41 |56 ;474252
Sample-2 |51 |63 {58 |59 |52 |46 511404347 |50 |59 |5348 60
O.R
QUE.3
{a) What is mean by Non —Parametric tests? Give advantages and limitations of it. (8)
(b) The result in M.com examination of 100 students is given below: (At 2 d.f xi =599} (9)
1% class 2™ class | Pass class Total
Boys 10 28 12 50
Girls 20 22 8 50
Can it be said that the performance in the examination does not depends on sex?
QUE.4
(a) Explain meaning, scope and assumptions of Interpolation and Extrapolation. (9)
{b) Obtain the number of workers earning wages between Rs. 60 & 70 using (9)
following dta.
Per day 20-40 | 40-60 60-80 80-100 100-120
wages (Rs.)
Number of 250 120 100 70 50
workers
O.R
QUE.4
(a) Explain meaning of A and E and establish relationship between them. (9)
{b) Using Lagrange’s method find value of V8 (9)

if VZ =1.41,v5 = 2.24 and V6 = 2.45.
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SECTION:1
QUE.1

() ostell: 1. WisstslaA Blofuiet, (Gl 0Bl R A WO (8)
2. Riszellal uRseustt, dslEls uRseusit AU Blst uRseuosl

(b) 1000 WsHcllnl A A€W [Aedledll 1t 19.6 B W 800 Asrlcton ollon g9 (9)

Flesiell Heats 20 D.AL Ax ARl 51l astal ¥ oa Resl Age AnRuiel Aaud

PP N Ny, Y SEPRNRINY TR g WG Y PR T | BN T T o SN T oh
HiRL & 5 %y ﬁ&l@m Quciet 2.6 B, \ 5% uLeisraloxl S&IR 3125 (5Hd 1.96 @.)

_ AUl

QUE.1

(@) HIRL OISl BRI 25HL sl (8}
(b) 1000 Y3uloll As el s AU 400 B YuUlal s2cll scti.oflet 23 {9)

800 il 400 Y™l Yuulel 52cl sl Bl yulell Yuulet sacitell 2cii s

dslad YA B2 (5% Welsdlell seud sles Bud 1.96 B
QUE.2
(a) ay (el udlatel el 912 [ledl udlawl oA dstad 2w s3. (6)

(b) A5 clagoll ANEUL USEL ol 28t Utfloll ARl (551 (1A Wl B. M2 (7)
ol R dAUWL UR A B? (olal eldAdl ofl Hisl URA 5% U sciloll saudl Hwes

(Gud 2.262 )
dalcl udeL |80 [30 [20 [40 [e0 |80 [s0 [80 |70 |90

sdad ul |70 (50 [70 |50 [30 |90 |50 [100 |60 |100

(c) tlddRul ol 8¢ uel As GuAlal AL (5)
Aal

QUE.2

(a) [Q2uRel Yyausseg AzA g7 Aoll trzeul cul. (6)

(b) Qe wlle 1l AR vitctRlell GUAA &l oflAell Guay UAA 6cll. VUAN A dftad  (7)
AUds otell A uRscuUolle] uReatal 53 ( 2,9 wcdalcliell HIoL uA 5% AU hsciol seu
Foll sws (Sud 4.26 B)
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T E)l Gux
A 1 4 3 3
B 6 5 4 2
C 7 3 5 6

(c) As uHlRuisll e Asnl A9 A Acil 3Ad B, % oA ealadc B:
135,130,136,138,143,146,150,148,153,151. AUl HLas 140 B & URSCUelle]

uRBagl 5. ( otal 2elcdatell ofl Mol Wal 5% Welsciell sau sles Eud 2.262 B)

SECTION:2
QUE.3

(a) s18-2sAR udlag ot QRN GuALN st ® 7 A Usl oA A As wmeadl .
(b) “OQ e (el As o yHRUL &l Aatrl et B A URsEUsle] uRarl sl

Mann-Whitney U U alalell Guilol 5(5% Wdsclel sau sles [(Sucd 1.96 B)
@esiy |42[57[51]61 [40 [40[58[63 |64 |42 [41]56 |47 [42]52

{Aeol 2 [D51]6358]59 |52 14651 |40 4347 {50 |59 |53 |48 |60

weLell
QUE.3
(a) dyuclla dd Aed 97 Aot SLAERD ol M wRu,

(b) 100 (Qausllxlle An 8lua] URGUH (1A A B 2 ALHA W K =5.99)

uay aol | ofled adl | w e}
Yz 10 28 12 50
=l 20 22 8 50

9 A s&l astal ¥ uBaudl usadl 2l u 2uelR Al 8l 2
QUE.4
(a) viddalet uUR wl@Tatetall wel ,Gualoflclt vl tQuall uHescl,

b) (1Al 1Bl HEE sl 602l 70 a2l WoUR AAclotiz sIHElRLe{l vl Ao

R ool wour gy | 20440 | 4060 | 60-80 80-100 | 100-120
sIHER( vl | 250 120 100 70 50
Al

QUE.4
(a) A U E ol el wHenell Auefl 2 Aol yraufld 52,

(b) ¥ VvZ=1.415 =2.24 ol V6 =2.45 &2 dl cdlle™ ol It gt
V8 ol Bxd Aadl.
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